



(RESEARCH ARTICLE)



Generalized techniques for constructing the generating functions of some algebraic and rational functions

Chika Moore ¹, Justina Ebele Okeke ² and Elias Ikechukwu Chukwuma ²

¹ Department of Mathematics, Faculty of Physical Sciences, Nnamdi Azikiwe University, Awka, Anambra State, Nigeria

² Department of Mathematics, Faculty of Physical Sciences, Chukwuemeka Odumegwu Ojukwu University, Anambra State, Nigeria.

World Journal of Advanced Research and Reviews, 2024, 23(01), 202–212

Publication history: Received on 18 May 2024; revised on 26 June 2024; accepted on 28 June 2024

Article DOI: <https://doi.org/10.30574/wjarr.2024.23.1.1929>

Abstract

We construct generating functions for general forms of certain classes of algebraic and rational functions using only basic tools of Mathematics. This approach unifies, extends and generalizes several techniques of constructing generating functions.

Keywords: Power series; Algebraic function; Rational function; Sequence of numbers and differentiable function.

1. Introduction

Generating function technique in mathematics provides a way of using a single function to encode an infinite sequence of numbers by treating them as the coefficients of a formal power series. This series is called the generating function of the sequence [1]. Generating functions showcase the "power of power series", giving more depth to the word "power" in power series. However, generating function technique provides a natural and elegant way of dealing with sequence of numbers by associating a continuous function of a variable with a sequence. In this way, generating functions provide a bridge between discrete and continuous mathematics [2]. In 1730, Abraham de Moivre solved some problems of linear recurrence using generating functions. Then, James Stirling in 1730 extended this theory by using differentiation and integration to solve the same problems. In 1747, Leonhard Paul Euler extended the use of the technique to study partitions of integers. Furthermore, Pierre-Simon de Laplace in 1812 extended the technique to moment generating functions and probability theory and from there, many other researchers came up after them [3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15]. Generating functions enable the solution of sequence problems with the method used in solving problems in algebra. Furthermore, generating functions can be viewed in the perspective of the formal power series where the convergence is considered a non-issue [16]. The major idea of a generating function is to use a single function instead of an infinite sequence of numbers. Generating functions have proved to be very useful tools which facilitate the solution of various classes of counting problems as questions about the convergence are not required. Thus, this enables the solutions of difficult varieties of counting problems with little effort [17].

There are several kinds of generating functions which includes Bell Series, Lambert series, ordinary generating functions, exponential generating functions and Dirichlet series. Every sequence has one generating function or the other but the way they are handled differs except Lambert and Dirichlet series which requires its indices to start with one rather than zero. Generating functions are used to find exact formula, recurrence formulas, averages, statistical properties, prove identities and other properties of sequences [18]. Sometimes, generating functions can be regarded as generating series and can also be expressed in a closed form instead of as a series [19, 20]

* Corresponding author: Justina Ebele Okeke

In this work, the generalized techniques for constructing the generating functions of some algebraic and rational functions are studied with the view to unify and extend these techniques and their applications. In addition, the generalized techniques for constructing the generating functions of some algebraic and rational functions were developed. Also, these generalized techniques were applied in obtaining series expansions of certain classes of functions.

2. Basic definitions

2.1. Polynomial function

A polynomial function in x is a function which contains only a finite number of positive integer powers of x , usually arranged in the order of ascending or descending powers. The degree of a Polynomial is the highest power of the variable occurring in the function; for instance

$$f(x) = 5x^4 + 7x^3 + 2x^2 + 3x + 1$$

is a 4th degree polynomial. Thus, the general form of a polynomial function can be seen in the form of power series like

$$f(x) = \sum_{m=0}^{\infty} f_m x^m$$

Provided that there exist $n_0 \in \mathbb{N}$ such that $f_m = 0$ for all $m > n_0$

2.2. Rational function

Let $p(x)$ and $q(x)$ be polynomials in a variable x . $\frac{p(x)}{q(x)}$ is called a rational function in x provided that $q(x) \neq 0$. Thus, $\frac{p(x)}{q(x)}$ is defined only for values of x where $q(x) \neq 0$. If the degree of $p(x)$ is less than the degree of $q(x)$, then the rational function is called a proper rational function

2.3. Algebraic function

Algebraic function is a function which contains algebraic operations like addition, multiplication, subtraction and division as well as fractional or rational exponents [21].

2.4. Analytic function

A function is analytic if it is differentiable at every point in the finite plane. In other words, a function is analytic once it has a convergent local power series [4, 22, 23].

2.5. Combinatorics

It is a mathematical field that deals with the problems of arrangement and selection together with their operations in a finite set which has some constraints [3, 24, 15].

2.6. Ordinary generating function

It is a generating function which appear in the form of

$$B(x) = \sum_{n=0}^{\infty} f_n x^n = f_0 + f_1 x + f_2 x^2 + \dots$$

Where f_n is the coefficient of the series. Ordinary generating function can also be called generating function [4, 25, 26]

2.7. Exponential generating function

Exponential generating function of the sequence $\{f_n\}_{n \geq 0}$ is any formal power series that is of the form

$$B(x) = \sum_{n \geq 0} f_n \frac{x^n}{n!}$$

Where $B(x)$ is the exponential generating function of $f_0, f_1, f_2, f_3, f_4, \dots$ [26].

3. Research results

3.1. Generating functions of algebraic and rational functions.

Theorem 3.1 Let $f(x) = c(a + bx)^m$. Then its generating function is given by

(i) at $x_0 = 0$,

$$g(x) = \begin{cases} c \sum_{r=0}^m \binom{m}{r} a^{m-r} b^r x^r; & \text{if } b > 0, m > 0 \\ c \sum_{r=0}^m \binom{m}{r} (-1)^r a^{m-r} d^r x^r; & \text{if } b = -d < 0, m > 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (-1)^r a^{-(n+r)} b^r x^r; & \text{if } b > 0, m = -n < 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} a^{-(n+r)} d^r x^r; & \text{if } b = -d < 0, m = -n < 0 \end{cases}$$

and (ii) at $x_0 \neq 0$ ($x_0 \neq -\frac{a}{b}$ if $m < 0$)

$$g_0(x) = \begin{cases} c \sum_{r=0}^m \binom{m}{r} (a + bx_0)^{m-r} b^r (x - x_0)^r; & \text{if } b > 0, m > 0 \\ c \sum_{r=0}^m \binom{m}{r} (-1)^r (a - dx_0)^{m-r} d^r (x - x_0)^r; & \text{if } b = -d < 0, m > 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (-1)^r (a + bx_0)^{-(n+r)} b^r (x - x_0)^r; & \text{if } b > 0, m = -n < 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (a + bx_0)^{-(n+r)} d^r (x - x_0)^r; & \text{if } b = -d < 0, m = -n < 0 \end{cases}$$

Proof

Observe that $D(f) = \mathbb{R}$, if $m > 0$ and $D(f) = \mathbb{R} \setminus \{-\frac{a}{b}\}$ and that $f \in C^\infty$, that is f continuously differentiable i.e. f is a smooth function. Also, for any $r > 0$ integer

$$f^{(r)}(x) = \begin{cases} c m_{P_r} (a + bx)^{m-r} b^r; & \text{if } m > 0 \\ c (n - 1 + r)_{P_r} (-1)^r (a + bx)^{-(n+r)} b^r; & \text{if } m = -n < 0 \end{cases}$$

So that

$$f^{(r)}(0) = \begin{cases} c m_{P_r} a^{m-r} b^r; & \text{if } m > 0, b > 0 \\ c m_{P_r} (-1)^r a^{m-r} d^r; & \text{if } m > 0, b = -d < 0 \\ c (n - 1 + r)_{P_r} (-1)^r a^{-(n+r)} b^r; & \text{if } m = -n < 0, b > 0 \\ c (n - 1 + r)_{P_r} a^{-(n+r)} d^r; & \text{if } m = -n < 0, b = -d < 0 \end{cases}$$

and

$$f^{(r)}(x_0) = \begin{cases} c m_{P_r} (a + bx_0)^{m-r} b^r; & \text{if } m > 0, b > 0 \\ c m_{P_r} (-1)^r (a + bx_0)^{m-r} d^r; & \text{if } m > 0, b = -d < 0 \\ c (n - 1 + r)_{P_r} (-1)^r (a + bx_0)^{-(n+r)} b^r; & \text{if } m = -n < 0, b > 0 \\ c (n - 1 + r)_{P_r} (a + bx_0)^{-(n+r)} d^r; & \text{if } m = -n < 0, b = -d < 0 \end{cases}$$

Hence, the generating function has the stated forms

(i) at $x_0 = 0$

$$g(x) = \begin{cases} c \sum_{r=0}^m \binom{m}{r} a^{m-r} b^r x^r; & \text{if } b > 0, m > 0 \\ c \sum_{r=0}^m \binom{m}{r} (-1)^r a^{m-r} d^r x^r; & \text{if } b = -d < 0, m > 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (-1)^r a^{-(n+r)} b^r x^r; & \text{if } b > 0, m = -n < 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} a^{-(n+r)} d^r x^r; & \text{if } b = -d < 0, m = -n < 0 \end{cases}$$

and (ii) at $x_0 \neq 0$ ($x_0 \neq -\frac{a}{b}$ if $m < 0$)

$$g_0(x) = \begin{cases} c \sum_{r=0}^m \binom{m}{r} (a + bx_0)^{m-r} b^r (x - x_0)^r; & \text{if } b > 0, m > 0 \\ c \sum_{r=0}^m \binom{m}{r} (-1)^r (a - dx_0)^{m-r} d^r (x - x_0)^r; & \text{if } b = -d < 0, m > 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (-1)^r (a + bx_0)^{-(n+r)} b^r (x - x_0)^r; & \text{if } b > 0, m = -n < 0 \\ c \sum_{r \geq 0} \binom{n-1+r}{r} (a + bx_0)^{-(n+r)} d^r (x - x_0)^r; & \text{if } b = -d < 0, m = -n < 0 \end{cases}$$

This completes the proof.

COROLLARY 3.1 Let the function

$$f(x) = \frac{ax}{(1 - bx)^m} \quad \forall b > 0 \text{ and } m > 0.$$

Then its generating function is given by

$$g(x) = \begin{cases} a \sum_{r=0}^{m+r-2} \binom{m+r-2}{r-1} b^{r-1} x^r & \text{if } x_0 = 0 \\ a \sum_{r \geq 0} b^{r-1} (1 - bx_0)^{-(m+r-1)} \left[\binom{m+r-2}{r-1} + b \binom{m+r-1}{r} x_0 (1 - bx_0)^{-1} \right] (x - x_0)^r & \text{if } x_0 \neq 0 \end{cases}$$

Proof

We observe that f is undefined for $x = \frac{1}{b}$ so $D(f) = \mathbb{R} \setminus \left\{ \frac{1}{b} \right\}$

$$f(x) = \frac{ax}{(1 - bx)^m} = ax(1 - bx)^{-m}$$

Now, for $r \in \mathbb{N}$, we have

$$f^r(x) = rab^{r-1}(m+r-2)_{P(r-1)}(1-bx)^{-(m+r-1)} + ab^r(m+r-1)_{P_r}x(1-bx)^{-(m+r)}$$

$$f^r(0) = rab^{r-1}(m+r-2)_{P(r-1)}$$

$$f^r(x_0) = rab^{r-1}(m+r-2)_{P(r-1)}(1-bx_0)^{-(m+r-1)} + ab^r(m+r-1)_{P_r}x_0(1-bx_0)^{-(m+r)}$$

$$= ab^{r-1}(m+r-2)_{P(r-1)}(1-bx_0)^{-(m+r-1)}[r + b(m+r-1)x_0(1-bx_0)^{-1}]$$

Then, the generating function becomes

$$g(x) = \begin{cases} a \sum_{r \geq 0} \binom{m+r-2}{r-1} b^{r-1} x^r \text{ if } x_0 = 0 \\ a \sum_{r \geq 0} \frac{(m+r-2)_{P(r-1)}}{r!} b^{r-1} (1-bx_0)^{-(m+r-1)} [r + b(m+r-1)x_0(1-bx_0)^{-1}] (x-x_0)^r \text{ if } x_0 \neq 0 \end{cases}$$

$$g(x) = \begin{cases} a \sum_{r \geq 0} \binom{m+r-2}{r-1} b^{r-1} x^r \text{ if } x_0 = 0 \\ a \sum_{r \geq 0} b^{r-1} (1-bx_0)^{-(m+r-1)} \left[\binom{m+r-2}{r-1} + b \binom{m+r-1}{r} x_0 (1-bx_0)^{-1} \right] (x-x_0)^r \text{ if } x_0 \neq 0 \end{cases}$$

This completes the proof.

Similarly, (i) for the function

$$f(x) = \frac{a}{(1-bx)^m} \text{ for all } b > 0 \text{ and } m > 0$$

its generating function is

$$g(x) = \begin{cases} a \sum_{r \geq 0} \binom{m+r-1}{r} b^r x^r \text{ if } x_0 = 0 \\ a \sum_{r \geq 0} \binom{m+r-1}{r} b^r (1-bx_0)^{-(m+r)} (x-x_0)^r \text{ if } x_0 \neq 0 \end{cases}$$

(ii) for the function

$$f(x) = \frac{a}{1-rx} \quad \forall a, r \in \mathbb{R} \setminus \{0\}$$

its generating function is

$$g(x) = \begin{cases} a \sum_{k \geq 0} r^k x^k \text{ if } x_0 = 0 \\ a \sum_{k \geq 0} r^k (1-rx_0)^{-(k+1)} (x-x_0)^k \text{ if } x_0 \neq 0 \end{cases}$$

THEOREM 3.2 Let m be a positive integer, $0 < l < m$ integer, let λ_i ($i = 0, \dots, l$), $a, b \in \mathbb{R}$, let

$$q_l(x) = \sum_{i=0}^l \lambda_i x^i \text{ and let } f(x) = \frac{q_l(x)}{(a+bx)^m}$$

Then, the generating function for f is given by

$$g(x) = \sum_{r \geq 0} \left\{ \left[\sum_{j=0}^l A_{m-l+j} b^{l-j} \binom{m-1-l+j+r}{r} \right] (-1)^r b^{-(m+r)} a^r x^r \right\}$$

Proof

$$\frac{q_l(x)}{(a+bx)^m} \equiv \sum_{i=1}^m \frac{A_i}{(a+bx)^i} = \frac{A_1}{(a+bx)} + \frac{A_2}{(a+bx)^2} + \dots + \frac{A_m}{(a+bx)^m}$$

This produces

$$A_k = 0 \text{ for } k = 1, 2, \dots, m-l-1$$

Hence,

$$\frac{q_l(x)}{(a+bx)^m} = \sum_{j=0}^l \frac{A_{m-l+j}}{(a+bx)^{m-l+j}}$$

The generating function for

$$f_{m-l+j}(x) = \frac{A_{m-l+j}}{(a+bx)^{m-l+j}} \text{ is given by}$$

$$g_j(x) = A_{m-l+j} \sum_{r \geq 0} \binom{m-1-l+j+r}{r} (-1)^r b^{-(m-l+j+r)} a^r x^r$$

Hence, the generating function for f is given by

$$\begin{aligned} g(x) &= \sum_{j=0}^l g_j(x) = \sum_{j=0}^l \left\{ A_{m-l+j} \sum_{r \geq 0} \binom{m-1-l+j+r}{r} (-1)^r b^{-(m-l+j+r)} a^r x^r \right\} \\ g(x) &= \sum_{r \geq 0} \left[\sum_{j=0}^l A_{m-l+j} b^{l-j} \binom{m-l-1+j+r}{r} \right] (-1)^r b^{-(m+r)} a^r x^r \\ g(x) &= \sum_{r \geq 0} \left\{ A_{m-l} b^l \binom{m-l-1+r}{r} + A_{m-l+1} b^{l-1} \binom{m-l+r}{r} + \dots + A_{m-1} b \binom{m-2+r}{r} \right. \\ &\quad \left. + A_m \binom{m-1+r}{r} \right\} (-1)^r b^{-(m+r)} a^r x^r \end{aligned}$$

This completes the proof.

3.2. Applications of the generalized techniques in obtaining series expansion of some functions

EXAMPLE 3.1 Find the series expansion of the function

$$f(x) = \frac{3}{(1-5x)^6} \text{ at (i) } x_0 = 0 \text{ (ii) } x_0 = 2$$

Solution

The generalized technique for obtaining the generating function of

$$f(x) = \frac{a}{(1 - bx)^m} \text{ for all } b > 0 \text{ and } m > 0$$

is

$$g(x) = \begin{cases} a \sum_{r \geq 0} \binom{m+r-1}{r} b^r x^r & \text{if } x_0 = 0 \\ a \sum_{r \geq 0} \binom{m+r-1}{r} b^r (1 - bx_0)^{-(m+r)} (x - x_0)^r & \text{if } x_0 \neq 0 \end{cases}$$

Here, we observe that $a = 3, b = 5$ and $m = 6$. Thus, the series is given by

$$g(x) = \begin{cases} 3 \sum_{r \geq 0} \binom{6+r-1}{r} 5^r x^r & \text{if } x_0 = 0 \\ 3 \sum_{r \geq 0} \binom{6+r-1}{r} 5^r (1 - 5(2))^{-(6+r)} (x - 2)^r & \text{if } x_0 = 2 \end{cases}$$

$$g(x) = \begin{cases} 3 \sum_{r \geq 0} \binom{5+r}{r} 5^r x^r & \text{if } x_0 = 0 \\ 3 \sum_{r \geq 0} \binom{5+r}{r} 5^r (-9)^{-(6+r)} (x - 2)^r & \text{if } x_0 = 2 \end{cases}$$

$$g(x) = \begin{cases} 3 \left[\binom{5}{0} 5^0 x^0 + \binom{6}{1} 5^1 x^1 + \binom{7}{2} 5^2 x^2 + \binom{8}{3} 5^3 x^3 + \dots \right] & \text{if } x_0 = 0 \\ 3 \left[\binom{5}{0} 5^0 (-9)^{-(6)} (x - 2)^0 + \binom{6}{1} 5^1 (-9)^{-(7)} (x - 2)^1 + \binom{7}{2} 5^2 (-9)^{-(8)} (x - 2)^2 + \dots \right] & \text{if } x_0 = 2 \end{cases}$$

$$g(x) = \begin{cases} 3 + 90x + 1575x^2 + 21000x^3 + \dots & \text{if } x_0 = 0 \\ \frac{1}{177147} - \frac{10}{531441} (x - 2) + \frac{175}{4782969} (x - 2)^2 + \dots & \text{if } x_0 = 2 \end{cases}$$

Thus, the series is

$$g(x) = \begin{cases} 3 + 90x + 1575x^2 + 21000x^3 + \dots & \text{if } x_0 = 0 \\ \frac{1}{177147} - \frac{10}{531441} (x - 2) + \frac{175}{4782969} (x - 2)^2 + \dots & \text{if } x_0 = 2 \end{cases}$$

EXAMPLE 3.2 Find the series expansion of the function

$$f(x) = \frac{3}{1 - 2x} \text{ at (i) } x_0 = 0 \text{ (ii) } x_0 = 4$$

Solution

The generalized technique for obtaining the generating function of

$$f(x) = \frac{a}{1 - rx} \quad \forall a, r \in \mathbb{R} \setminus \{0\}$$

is given by

$$g(x) = \begin{cases} a \sum_{k \geq 0} r^k x^k & \text{if } x_0 = 0 \\ a \sum_{k \geq 0} r^k (1 - rx_0)^{-(k+1)} (x - x_0)^k & \text{if } x_0 \neq 0 \end{cases}$$

Here, we observe that $a = 3$ and $r = 2$. Thus, the series is given by

$$g(x) = \begin{cases} 3 \sum_{k \geq 0} 2^k x^k & \text{if } x_0 = 0 \\ 3 \sum_{k \geq 0} 2^k (1 - 2(4))^{-(k+1)} (x - 4)^k & \text{if } x_0 = 4 \end{cases}$$

$$g(x) = \begin{cases} 3 \sum_{k \geq 0} 2^k x^k & \text{if } x_0 = 0 \\ 3 \sum_{k \geq 0} 2^k (-7)^{-(k+1)} (x - 4)^k & \text{if } x_0 = 4 \end{cases}$$

$$g(x) = \begin{cases} 3[2^0 x^0 + 2^1 x^1 + 2^2 x^2 + 2^3 x^3 + 2^4 x^4 + \dots] & \text{if } x_0 = 0 \\ 3[2^0 (-7)^{-1} (x - 4)^0 + 2^1 (-7)^{-2} (x - 4)^1 + 2^2 (-7)^{-3} (x - 4)^2 + \dots] & \text{if } x_0 = 4 \end{cases}$$

$$g(x) = \begin{cases} 3 + 6x + 12x^2 + 24x^3 + 48x^4 + \dots & \text{if } x_0 = 0 \\ -\frac{3}{7} + \frac{6}{49}(x - 4) - \frac{12}{343}(x - 4)^2 + \dots & \text{if } x_0 = 4 \end{cases}$$

Thus, the series is

$$g(x) = \begin{cases} 3 + 6x + 12x^2 + 24x^3 + 48x^4 + \dots & \text{if } x_0 = 0 \\ -\frac{3}{7} + \frac{6}{49}(x - 4) - \frac{12}{343}(x - 4)^2 + \dots & \text{if } x_0 = 4 \end{cases}$$

EXAMPLE 3.3 Find the series expansion of the function

$$f(x) = \frac{5x}{(1 - 3x)^7}$$

Solution

The generalized technique for obtaining the generating function of

$$f(x) = \frac{ax}{(1 - bx)^m} \text{ for all } b > 0 \text{ and } m > 0$$

is

$$g(x) = a \sum_{r \geq 0} \binom{m + r - 2}{r - 1} b^{r-1} x^r \text{ if } x_0 = 0$$

Here, $a = 5$, $b = 3$ and $m = 7$. Thus, the series is given by

$$g(x) = 5 \sum_{r \geq 0} \binom{7 + r - 2}{r - 1} 3^{r-1} x^r = 5 \sum_{r \geq 0} \binom{5 + r}{r - 1} 3^{r-1} x^r$$

$$g(x) = 5 \left[\binom{5}{-1} 3^{-1} x^0 + \binom{6}{0} 3^0 x^1 + \binom{7}{1} 3^1 x^2 + \binom{8}{2} 3^2 x^3 + \dots \right]$$

$$g(x) = 5[0 + x + 7(3)x^2 + 28(9)x^3 + \dots]$$

$$g(x) = 5[x + 21x^2 + 252x^3 + \dots]$$

$$g(x) = 5x + 105x^2 + 1260x^3 + \dots$$

Thus, the series is $g(x) = 5x + 105x^2 + 1260x^3 + \dots$

EXAMPLE 3.4 Find the series expansion of the function

$$f(x) = 4(1 - 5x)^{-7}$$

Solution

The generalized technique for obtaining the generating function of

$$f(x) = c(a + bx)^m \text{ at } x_0 = 0$$

is

$$g(x) = c \sum_{r \geq 0} \binom{n-1+r}{r} (-1)^r a^{-(n+r)} b^r x^r; \text{ if } b > 0, m = -n < 0$$

Here, $c = 4, a = 1, b = -5$ and $n = 7$ (i.e. $n = -7$). Thus, the series is given by

$$g(x) = 4 \sum_{r \geq 0} \binom{7-1+r}{r} (-1)^r 1^{-(7+r)} (-5)^r x^r = 4 \sum_{r \geq 0} \binom{6+r}{r} (-1)^r 1^{-(7+r)} (-5)^r x^r$$

$$= 4 \left[\binom{6}{0} (-5)^0 x^0 + \binom{7}{1} (-1)(-5)^1 x^1 + \binom{8}{2} (-1)^2 (-5)^2 x^2 + \binom{9}{3} (-1)^3 (-5)^3 x^3 + \dots \right]$$

$$g(x) = 4[1 + 7(-1)(-5)x + 28(1)25x^2 + 84(-1)(-125)x^3 + \dots]$$

$$g(x) = 4[1 + 35x + 700x^2 + 10500x^3 + \dots]$$

$$g(x) = 4 + 140x + 2800x^2 + 42000x^3 + \dots$$

Thus, the series is

$$g(x) = 4 + 140x + 2800x^2 + 42000x^3 + \dots$$

4. Conclusion

Generating functions provide a bridge between discrete and continuous mathematics by associating a continuous function of a variable with a sequence. Generating functions have proved to be very useful tools which facilitate the solution of various classes of counting problems. Its roles can be appreciated because it treats any given power series as an algebraic object where the issue of convergence is de-emphasized. Thus, this enables the solutions of difficult varieties of counting problems with little effort. In this study, the generalized techniques for constructing the generating functions of some algebraic and rational functions were developed. Furthermore, these generalized techniques were applied in obtaining series expansion of certain classes of functions.

Recommendation

Additional research on generating function should be done so that it can be used to manipulate certain problems in Laurent and Fourier series.

Compliance with ethical standards

Disclosure of conflict of interest

No conflict of interest to be disclosed.

References

- [1] Solomentsev, E.D. (2001). History of Power Series. Mathematics. Encyclopedia of Mathematics. https://en.wikipedia.org/wiki/Power_series
- [2] Haukkanen, P. (2019). Formal power series in several variables. *International journal of physical sciences* 2019. Vol. 25. Pp. 44 – 57.
- [3] Hari, M. (2022). Families of Generating Functions Associated with Orthogonal Polynomials and other Transcendental Functions. American Mathematical Society Colloquium Publications; American Mathematical Society: Providence, RI, USA, 2022; Volume 23. 33 – 47.
- [4] Michael, Z. (2022). Combinatorial Sums and Finite Differences. *Journal of Computational and Applied mathematics*. Vol. 9. Pp. 342 – 353.
- [5] Darya, G. and Aleksandr, S. (2021). Moment Generating Function to Probability Density Function Transform Methods. *Journal of Combinatorial theory* Vol.84. Pp. 9 – 17.
- [6] Ritu, G. (2020). An extension of a class of generating functions. *Journal of American Mathematics* 2020. Vol. 7. Pp. 456 – 469.
- [7] Peter, D. (2019). Combinatorial Generating Functions. . *Journal of American Mathematics* 2019. Vol. 5. Pp. 27 – 39.
- [8] Miloud, M. (2017). Bell polynomials and binomial type sequences. *Journal of Discrete Mathematics* 308 (2017) 2450 – 2459.
- [9] Christoph, K. (2015). Regular Languages and Their Generating Functions: The Inverse Problem. *American Journal of Combinatorics*. Vol. 8. Pp. 456 – 468.
- [10] Oyeka, I. and Okeh, U. (2014). Generalized Methods for Generating Moments of Continuous Distribution. *Global Journal of Science Frontier Research: For Mathematics and Decision Sciences*. Volume 14 Issue 6 Version 1.0 Year 2014. Pp. 167 – 179.
- [11] Andrew, V. S. (2010). Compositions, Partitions and Fibonacci Numbers. *Journal of Combinatorial theory*. Vol. 49, number 4. Pp. 348 -354
- [12] Manuel, I. E. (2009). Some Applications of Probability Generating Function Based Methods to Statistical Estimation. *World Journal of Innovation Research*. Pp. 131-153. Vol. 1. Issue 3.
- [13] Silvia, S. (2007). Applying the Moment Generating Functions to the Study of Probability Distributions. *American Journal of Economic Studies* Vol. 2. Pp. 35 – 43.
- [14] Sandifer, C. E. (2007). Euler’s solution of the Basel problem—the longer story, in Euler at 300: An Appreciation, R. E. Bradley, L. A. D’Antonio, and C. E. Sandifer, eds., Mathematical Association of America, Washington, DC, 2007, 105–118.
- [15] Vilenkin, N.Y. (1969). *Combinatorics (Kombinatorika)*. Moscow (In Russian): Nauka Publishers.
- [16] Flajolet, P. and Sedgewick, R. (2009). *Analytic Combinatorics*. Cambridge University Press, Cambridge, UK.
- [17] Michaels, J. G. (2013). Arrangement with forbidden Positions. *Discrete Mathematics and its applications* (PP. 158 – 171). Department of Mathematics, State University of New York.
- [18] Wilf, H. S. (1994). *Generatingfunctionology*. Academic Press Publishers, Cambridge, USA.
- [19] Landon, S.K. (2003). *Lectures on Generating Functions; Series on Student Mathematical Library; American Mathematical Society: Providence, RI, USA, 2003; Volume 23.*
- [20] Comtet, L. (1974). *Advanced Combinatorics*. D. Reidel Publishing Company, Dordrecht, the Neitherland
- [21] Obiajulu E. F and Ubaoji K. I, (2017). *Introductory A-Level Mathematics for Joint University Preliminary Examinations Board (JUPEB)*. LAP LAMBERT Academic Publishing Lagos, Nigeria
- [22] Weisstein, E. W. (2017). Eulerian Number. In *MathWorld-A Wolfram Web Resource*. Retrieved from <http://mathworld.wolfram.com/EulerianNumber.html>
- [23] Gessel, I. M. (2013). Generalized rook polynomials and orthogonal polynomials, q-series and partitions (Dennis Stanton, ed.), *IMA volumes in Mathematics and its applications*, Springer Verlag, New York, PP. 159-176.

- [24] Prasanna, S. (2006). Probability and Mathematical Statistics. Department of Mathematics, University of Louisville, Louisville USA. University Publishing Press, Louisville.
- [25] Skoch, S. R. (2015). I Don't Play Chess: A study of chess piece Generating Polynomial. Senior Independent Study Thesis, (P. paper 6559).
- [26] Stroud, K. A and Dexter, J. B. (2007). Engineering Mathematics Sixth Edition. Published by Palgrave Macmillian.